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7t % E 1284 10H moE F 4 B % % B 506 t
[BF3E 419 t ] | [BE 87 t ]
B AMEIZRIBESZBRE 5 % FHLEDL oL ATRTEIIXFIBEESE B 43 %M RE
- - B [ (BAH)
g B2 . x E

T E TEEM | B AL 1B & At E FEEM | B A | & E Z E
FY IR £ B | 10ke 1,620 324 | BHhA 10 ke| 3,456 2,160
N WA B M 200 g 162 129 | U # 10 ke 7,020 1, 836
LA = B 200 g 75 58 | BEF B 10 ke 3, 780 1, 620
ZEoR N & 200 g 118 97 | 7RI E— B 270 g 410 216
IES5NAED & 200 g 129 108 | WD) z3i 270 g 594 356
Hh&E = B 8 ke 3, 240 1,080 | wrEREE B 270 g 486 | —
LA EL FnaEkiL 200 g 86 — | TR AB Y I 8 ke 5, 940 —
PN A = 10 ke 756 — -
&FFIZA LA o E 5 ke 1, 296 —
WA CA E & 10 ke 1,512 1, 080
< Ewn FoRRIL 12 ke 864 —
R a4 A 10 ke 1,080 648
LR  E 10 ke 3,024 | 2, 052
w5 = IF 5 ke 3, 024 2, 484
Zar R = A 5 ke 2, 808 —
k= A 4 kg 1, 620 1, 080
P IR 150 g 54 —
v Lox JevgE 10 ke 1,080 540
mEhRE AbEE 20 ks 1, 836 1,512
A LT w5 100 g 162 81
LU & B 100 g 59 54




AERPEREFETHHESB 128 108 @ E KEDRHTHE 60 ¢t

WMo . AWEIIEBRESEKE 65 %# /J&Ew [fE/ 32 t ] [ 11t ] [EF 17t ]
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fif =l B | +
T H FEEMH | B AL | B E Z E [ % @ H FEEM | B AL | & E 7

EESCAE R 1 kg 2, 268 1,512 | H®|H4r TAY A 1ke 3, 240

HESAHHE PN AES 1 ke 1,404 972 | HEH-N I = 1 ke 1, 080.

7 £ E 1 ke 2, 268 367 | # 7= | = 1ke 1, 836 1, 296
VA 'O 1ke 2, 700 237 | AE | & M 1ke 1,512 1, 080
A% L E 1ke 345 216 | FU A Rk E 1 ke 3, 240 1,080
AV A ATy A= 1 ke 5, 940 723 | ATV AvvEE 18 194

TE N T w5, 1 ke 1, 242 216

EEA = & | lke 2, 484 540

EH = (i 1 ke 1, 944 756

INE Frag L 1 ke 864 432

7Y ' Ag K 1 ke 1, 080 324

7 % IR B 1ke 4,536 64

x7Y BIRE 1 ke 1,674 540

HU g & IF 1 ke 1,296 432




